Genmitsu

= =
& &
—

> =
- >
L r
>

_||_
o>
=z -
@ 0
L =
m ®
d4 C
= O
@ m

English [ 01-14 ] Genmitsu MD18 Rotary Module User Manual
Deutsch Genmitsu MD 18 Rotationsmodul Benutzerhandbuch

V1.0 Nov 2023




Contents

1
UNbOXING - - - - == == —mm oo oo 01
Usage Guide ----------—-- e 03
Mounted on Z6 - - - - === = - - — o 09
Z6 Software Settings --------===—= =~~~ — oo 10
Mounted on L8 == - === == = - e oo 12

LightBurn Software Settings --------------- - -~~~ 13



Unboxing

] | i 1D

Rotary Module (3) L-shaped Jaw (3) Ladder Jaw (3) Hexagonal Jaw

gz
=
§F

) = B’

(7) M4X10 Screw 2.5mm Allen Wrench Connection Cable User Manual




Unboxing

L

Model Name MD18 Rotary Module
Material Aluminum

Clamped L-shaped Jaw 60-120mm

Material Ladder Jaw 60-120mm

Diameter Hexagonal Jaw 10-80mm

Rotation Angle 0-30°

Product Weight 1.1 Kg

Product Size

215 X 106 X 95mm (8.46 X 4.17 X 3.74")

Package Size

255 X 135 X 130mm (10.04 X 5.31 X 5.12%)

106 mm

~
95 mm

215 mm




! Usage Guide
M

Chuck

Tailstock

Knurled Knob

Adjustment Screws

Adjustment Screws



Usage Guide

M
Chuck Adjustment

Hold the knurled knob with one hand and rotate the chuck with the
other hand to adjust the tightness of the chuck.

Tailstock Adjustment

Unscrew the adjusting screws, move the tailstock, adjust it to the
desired position and then tighten the screws to fix the tailstock.




Usage Guide

Al

L-shaped Jaw Mode (60-120mm)

What you need:

—) — |

(3) L-shaped Jaw (6) M4X10 Screw 2.5mm Allen Wrench

Use (6) M4X10 screws to secure the L-shaped jaws to the chuck.

L-shaped Jaw

(6) M4x10 Screw



Usage Guide

Al

Ladder Jaw Mode (60-120mm)

What you need:

| —) |

(3) Ladder Jaw (6) M4X10 Screw 2.5mm Allen Wrench

Use (6) M4X10 screws to secure the ladder jaws to the chuck.

Ladder Jaw

(6) M4x10 Screw



Usage Guide

Al

Ladder Jaw Mode (60-120mm)

What you need:

mme——3~1D

(3) Hexagonal Jaw

Screw hexagonal jaws into the chuck.

Hexagonal Jaw




Usage Guide

M
Rotation Mode (0-30°)

Loosen the fastening screw, adjust the support frame to the desired position, and tighten the adjustment screw to secure
the support frame.

Chuck Module ﬂ)[&

Fastening Screw Hole

Fastening Screw

Support Frame ° >
Adjustment Screw

fr




Mounted on Z6

Al

MD18 Rotary Module

Connection Port
Port

Connection Cable




! Z6 Software Settings
1
1. A

g

[B[B@‘DC;\"? B e

Save As  Copy Delete  Undo et Property Fill Objects

dd content.

f@ - @ File: 2 File Manage
Shape Selected! O C A"
ABC @ L-Rotate ’ R-Rotate Enlarge

Text Al O A
"Il“l E « » Narrow
|Barcode Work Il ; = EE

= @\ X-Mirror Y-Mirror  AllSel
Click in the drawing bar to add the Zoomli

content that needs{to be marked. Edit  Step: 1.00 mm, deg

Image

ey @\

Zo...ut

Vector | X 0.00 W 0.00 mm

Edit Bar Y 0.00 H 0.00 mm

142919 .
2N Marking Bar Mark

4 } b )




Z6 Software Settings

Al

2. Set parameters.

button to enter the marking page. The default mode is single marking. Select extended axis marking in the mode

drop-down menu.
O G+ & 0 @ 8 B 9

Reboot New

Redk

X Ma 8] s
Q @ Type Blue Light Switch

Shape Selected
ABC Template: Adv. Param
All
o o Speed 333 %
Y =
Barcode o Vgl“ Power 100.0 %
Image
\ / Q Mark Time Single Mark
V@ . p Zo.ut Trigger M.
ector —
Repeat M... W

Extended

Fly Mark

143418
202310/

2.1 Set the diameter parameters according to the product diameter.
2.2 According to the required engraving depth, adjust the power percentage

(note: in extended axis marking, when the content is filled, the filled line is engraved in "line" mode, through the power and marking
speed to adjust the engraving depth; the outline is engraved in "point" mode and the engraving depth is adjusted by power and point value).

2.3 Advanced parameters can adjust more parameters.
2.4 After all parameters are set, you can click | swireven  to preview the marking position.
2.5 Click | sarrevien | perform extended axis marking.



Mounted on L8

M
- ]
|‘ amera
Tk o] —Rotating axis lead socket
B 3
b o F S Roller
Al = —
g
I.: E
o [
Vi
—
i<l s
= & 1{ L
T W
L] m E =1
MD18 Rotary Module

Connection Line

Please place the rotary as shown in the picture to avoid the problem of mirroring caused by the opposite direction of rotation.



LightBurn Software Settings

Al

1. Add "Start Rotation" to the main window.
1.1 Click "Settings" on the toolbar.

Eile Edit Tools Arrange Laser Tools Window Language Help

XPos 204.2564 5 mm Width 121.732 < mm 100.000 < %
Rotate 0.00 < mm
YPos 197.6656 & mm — Height 128.245 S mm 100.000 < %

Q -60 -40 -20 ||| 20 40 60 20
2

ann

Font MS Shell ['1; 2

OB Bold (@B Italic

100 120

GG 0@ R+l + 0020 D¢k £ BaY &S Sl

Hea

OB Upper Case

140 160

1.2 In the settings window, open the "Show rotation in the main window" button and click OK.

- Ry
B setiogs - Uighieum 1201 Show rotary enable on main window o DOBR 00 R+RE +PPPIG Dok #2 Bat O Lol B4 S+
i tia it i me ) e aa - [T
PRI RO = mat @ @ © & Otk i 5y
9 Lyer Mode SpdPe Ot Shom
u}
[}
o
o
L
A
Q
Grid Contrast Lov Contrast V4
Visual Grid Spacing 10.00 o
e 1.00 P
O Inches / wa/sec C’
& « I i ) 0
Saspping g <) co03 |
0 Snep to Objects F Cor B Cmer B G Y
Shape Nove Tncrments o (o R |
Cerl-hrror 1.0000 3 Merow 5.0000 |3 Shift-hrrou 20.0000 |3 D —
Canera Captare Systen Cners Razelution Lo tion e Ehable Rotary. | W (TS >
B i
File
Settings
== ENOE-EEE NN EENNNEEnD - SEEEs > 6
T S g [




LightBurn Software Settings

Al

2. Open the rotation settings window and set the parameters.
2.1 Open the rotation settings window, click "Laser Tools" on the toolbar, then click "Rotary Setup”.

File Edit Tools Arrange @ Laser Tools Window Language Help
Eile Edit Tools Arrange Window Language Help BPAR @@ (& ritandcn P

=
BEDRE Q@ RFBE ¢ OOOI@| | img g crmami
(+] @ 4] Cad TS 1 Q }oi ot @ Calibrate Camera Alignment
XPos 204.254 5 mm Width 121.732 < mm 100.000 5 % — |0 Rotary Setup Ctrl+Shift+R |
Rota Q .
YPos 197.665 |3 mm — Height 128.245 '3 mm 100.000 |$/% VAL (2 FoaussTest  Rotary Setup
D T Interval Test
-60 -40 -20 I 20 40 O 22t Material Test
k O 280 @ Center Finder
2 ann ~

2.2 Set the correct parameters in the rotation setting window, as shown in the figure.

L0 Rotary Setup - LightBurn 1.2.01 ? X
Rotary Type
Steps:
@® Chuck .
(1) Select the type of rotation “Chuck”.
O Roller

(2) Open "Enable Rotary’.
(3) Select the "Z-axis" rotation axis.

OB Hirvor Output to Rotary (4) Enter the parameters of the rotating device (fixed value).
parameters of rotary

-~ (5) Enter your object parameters: the actual measured diameter circumference
— of the object to be measured.

Rotary Axis
Q¥ Axis

50.000mm 3| Object Diameter
O A Axis
157.080mm |3 Circumference
Test

.

The parameters of the picture you want to engrave to sculpted object




LightBurn Software Settings

Al

3. Import the pattern you want to engrave. set the size of the pattern, and set the power and speed of the engraving.

GEBE OO RS +PLPPIAD dX #1 PAT ©20 S0 40+
Width 121.732  $ mm rem g =

= Height 128.245

© \No>[ID00O~®

Speed (mm/m) 3000
Power Max (%) 100.00

4r 4

EEOE-EENSNNNNEDEDENDE S - SEEES - N0

4. You can click “Frame” to preview the position of the engraving pattern, and then move the laser head to the
desired position. It is recommended to use "Current Position" for the start position and click "Start" when you
have finished setting.

R s ———
GORAG O R+BE +PPLIAD X #1 B AT O 200 20 4+
8 ] Sk P -

i ©

§ P e o e I

/2 0 ] e 05 © © O

o 3 Disconnected

D

o .

°

’ 7 4

p4 " Pause .Stop ’ Start

(:_ .':} Frame |03 (:) Frame Save GCode Run GCode

{2 Home Go to Origin 2 btart From: Absolute C v

60 Easble Rtry

(OB Cut Selected Graphics

Job Origin

\
BEDE<“EEESEINNENDEODEEDEE = > “HOES - 50
©ae ©sin Otiwe Osew  sommymum



Contents

A
Auspacken - - - - - - - - - - 17
Gebrauchsanleitung - - --- - - ===~ = - - oo 19
Montiert auf Z6 - - === === = = = = - 25
Z6 Software-Einstellungen --------- - - 26
Montiert auf L8 - - - - - - - - - - - - oo 28

Einstellungen der LightBurn-Software ---------- === == 29



Auspacken

] | i 1D

Rotationsmodul (3) L-férmige Backe (3) Leiterformige Backe (3) Sechseckige Backe

gz
=
§F

) =

(7) M4X10 Schraube 2.5mm Inbusschlissel Verbindungskabel Benutzerhandbuch




Auspacken

M

Modellname MD18 Rotationsmodul

Material Aluminium

Ei L-féormige Backe 60-120mm

ingespannter

Materialdu Leiterférmige Backe 60-120mm

fetlulttl Sechseckige Backe 10-80mm

Drehwinkel 0-30°

Produktgewicht 1.1 Kg

ProduktgroRe 215X 106 X 95mm (8.46 X 4.17 X 3.74")

Verpackungsgrofde 255 X 135 X 130mm (10.04 X 5.31 X 5.12%)

H e =
£ | ﬂ)uz £
£ I w0 q
3 7 i
— O
e oD =
L ] 215 mm




! Gebrauchsanleitung
U

Gerandelte Knauf

Futter

Reitstock

Justierschraube

c
o
o)
)
©
—
e
O
2
0}
-
n
A=
L




Gebrauchsanleitung

Al

Einstellen des Spannfutters

Halten Sie den Randelknopf mit einer Hand und drehen Sie das
Spannfutter mit der anderen Hand, um die Spannung des
Spannfutters einzustellen.

Reitstock-Einstellung

Losen Sie die Einstellschrauben, verschieben Sie den Reitstock,
stellen Sie ihn auf die gewlunschte Position ein und ziehen Sie dann
die Schrauben wieder an, um den Reitstock zu fixieren.

Halten

Offnen




Gebrauchsanleitung

Al

L-formiger Backenmodus (60-120mm)

Was Sie benotigen:

— — |

(3) L-férmige Backe (6) M4X10 Schraube 2.5mm Inbusschlussel

Verwenden Sie (6) M4X10-Schrauben, um die L-formigen Backen am Spannfutter zu befestigen.

formige Backe

M4X10 Schraube




Gebrauchsanleitung

Al

Leiterbackenmodus (60-120mm)

Was Sie benotigen:

| —) ﬂ

(3) Leiterformige Backe  (6) M4X10 Schraube 2.5 mm Inbusschliissel

Verwenden Sie (6) M4X10 Schrauben, um die Leiterformige Backe am Futter zu befestigen.

Leiterformige Backe

M4X10 Schraube




Gebrauchsanleitung

Al

Sechskantbacken-Modus (10-80mm)

Was Sie benotigen:

(I 1D

(3) Sechskantbacken

Schrauben Sie die Sechskantbacken in das Spannfutter.

Sechskantbacken




Gebrauchsanleitung

M
Rotationsmodus (0-30-)

Ldsen Sie die Befestigungsschraube, stellen Sie den Tragrahmen auf die gewlinschte Position ein und ziehen Sie die

Einstellschraube fest, um den Tragrahmen zu sichern.

Spannfutter-Modul

Befestigungsschraubenloch

Stlutzrahmen

i

Befestigungsschraube

Einstellschraube




Montiert auf Z6

Al

MD18 Rotationsmodul

Anschlussport

Port

Verbindungskabel




! 26 Software-Einstellungen
U

1. Inhalt hinzufiigen

@ Werkzeugleiste Einstellungenleiste
O G e DD B B 9 C ¢

-M@@EﬁCXGQvgg

)pen Save Copy Delet Undo Redo Tool Set Property METY Objects

Elle 2 File Manage

Sha o
- 0 4 O A
ABC L-Rotate R-Rotate Enlarge
o= s« O» &
[l Ansichtswerkzeugleiste g B——
(Yl g Zcichenwerkzeugleiste work ||| 3 — .
= @ || x-Mirror Y-Mirror  AlSel
Click in the drawing bar to add the Zoomli
Image content that needs{to be marked. Edit  Step: 1.00 mm, deg
e e\
Zo...ut
Vector | X 0.00 W 0.00 mm

Bearbeitungswerkzeugleiste Y 0.0 H 0.0 mm

142919 . .
2023/10/31 Markierungswerkzeugleiste Mark

4 } b )




26 Software-Einstellungen

Al

2. Parameter einstellen.

Klicken Sie auf die Schaltflache ¥, um die Markierungsseite aufzurufen. Der Standardmodus ist Einzelmarkierung. Wahlen Sie im
Dropdown-Menu Modus die erweiterte Achsenmarkierung.
O G @ O @

B 9C X o

y  Delete  Uny Redk

Reboot New (

Prop ark Objects
Q) @ Type: Blue Light Switch

Shape Selected
Template: Adv. Param
ABC
Pl
= a
.. |Speed: 333 %
I -
Work | power. 100.0 %
Barcode p— (9\
- ‘ / o\ Mark Time Single Mark
O - Zo.ut Trigger M.

Vector
Repeat M... v

Extended

Fly Mark

143418
202310/3

2.1 Stellen Sie die Durchmesserparameter entsprechend dem Produktdurchmesser ein.

2.2 Passen Sie den Leistungsanteil entsprechend der gewlnschten Gravurtiefe an.

(Hinweis: Bei der erweiterten Achsenbeschriftung wird die gefiillte Linie im "Linien"-Modus graviert, wobei die Gravurtiefe Uber die
Leistung und die Markierungsgeschwindigkeit eingestellt wird; der Umriss wird im "Punkt"-Modus graviert und die Gravurtiefe wird
Uber die Leistung und den Punktwert eingestellt).

2.3 Erweiterte Parameter kbnnen weitere Parameter einstellen.

2.4 Nachdem alle Parameter eingestellt sind, kdnnen Sie auf | s«r«« klicken, um eine Vorschau der Markierungsposition zu erhalten.
2.5 Klicken Sie auf | swwveee . um die erweiterte Achsenmarkierung durchzufuhren.




Mounted on L8

1Y
Q Pl
| r amera
L S —Rotating axis lead socket-
0 49 Steckdose fiur Drehachse
s o F S Roller
o i e
)
I|: E
m [
—/
LT i
N | -
The ¢ \T
L m a J
MD18 Drehbares Modul

Anschlussleitung

Bitte platzieren Sie das Drehrad wie in der Abbildung gezeigt, um das Problem der Spiegelung durch die entgegengesetzte
Drehrichtung zu vermeiden.



Einstellungen der LightBurn-Software

Al

1. Fugen Sie "Start Rotation" zum Hauptfenster hinzu.
1.1 Klicken Sie auf "Einstellungen" in der Symbolleiste.

Eile Edit Tools Arrange Laser Tools Window Language Help

XPos 204.254 5 mm Width 121.732 < mm 100.000

n

1'1

YPos 197.666 & mm — Height 128.245 $ mm 100.000

-
v

-
=

%

%

40

Rotate 0.00

60

GEOBG 0@ R+RE + 9022l D¢k £ Bag &2 S

-
-

Font|MS Shell Dlg 2 Hei
OB Bold (@B Italic (@B Upper Case

100 120 140 160

% -60

-40 -20 1| 20

ann

1.2 Offnen Sie im Einstellungsfenster die Schaltflache "Drehung im Hauptfenster anzeigen" und klicken Sie auf OK.

BT T T e T T T
Settings - LightBurn 1.201 / X -y —
BY settings - LightBum Show rotary enable on main window BEAR OO RLRE +PPL G D EX BL BAD O 2o S0 i+
Display / Graghios S g Bl S 0o g% 5 sl =~ e —— ol
OB Beginner Node (Sinpler Interface) w s i w3 * e e - . o o& O Lo irmer
or, but
? e Mode SpiPwe Ot Shom
0
= a
s B n main i
or - = es if possible - o
o
o n Sixe et Sixe wlt i L
nits Q
Better for 002 Better for diode Grid Contrast Lov Contrast V4
Displey &
Uni ts Oma / see ® wn / vin Visual Grid Spacing 10.00 o
O Tnches / sae O Tnches / nin Grid Saup Distance 100 @
O Inches / wa/sec O Inches / ma/nin  Click-Selection Tolerance (pixels) 3.0 Q
Object Saap Distance (pixels) 10.0 e I sveed o i
Snapping o s :
€0 Snwp to Objects €0 Snap to Grid B G e Cmem s G Tam
Shape Nove Increments o [ |
Cerlohrrov 1.0000 3 Merow 5.0000 |3 Shift-hrrou 20.0000 |3 D —
Coers Coptms Sutm Cawe Lselution Lo tion £ Ehable Rotary. e [ B8 >
O Black wnd White :
® @® Fall Coler
OB Rotat
File
Settings
=y OEDE«E D ANNEEDDDEEDD = - «@EOE> » @
©lne O Oliwe Qs =@My DO AR p—




Einstellungen der LightBurn-Software

Al

2. Offnen Sie das Fenster mit den Rotationseinstellungen und stellen Sie die Parameter ein.
2.1 Offnen Sie das Fenster mit den Rotationseinstellungen, klicken Sie in der Symbolleiste auf "Laser Tools" und dann

auf "Rotary Setup".

kY=
XPos 204.

54

YPos 197. 665

-60
-

B

v mm

-

-40

Width 121.732 3 mm 100.000

-

s mm - Height 128.245 $ mm 100.000

-
v
-
-

File Edit Tools Arrange Window Language Help
Q@ BBl +90L2

=" z
p " Q XPos 204.264 |3/mm wiar @ Calibrate Camera Lens
ad a8
197.665 &
%

%

File Edit Tools Arrange | Laser Tools Window Language Help

AR @@ (& rrintandcu ¥

e @ Calibrate Camera Alignment

0 I@ Rotary Setup Ctrl+Shift+R |

Rota
+) FoassTest  Rotary Setup
= Interval Test

.EE Material Test

40
@ Center Finder

pOOO~=

2.2 Stellen Sie die richtigen Parameter im Fenster fur die Rotationseinstellung ein, wie in der Abbildung gezeigt.

Rotary Type

@® Chuck

O Roller

@0 Ensble Rotary

(OB Mirror Output to Rotary

% Rotary Setup - LightBurn 1.2.01

? X

parameters of rotary

Rotary Axis A/ " N

O ¥ Axis 110.00 |3 mm per rotation

® 7 Axis 50.000mm 3 Object Diameter

A Axis
Tt 157.080mm |3 Circumference
es

A [T | cwen
4

Die Parameter des Bildes, das Sie in ein skulpturales Objekt eingravieren méchten

Schritte:

(1) Wahlen Sie die Rotationsart "Chuck".

(2) Offnen Sie "Drehung aktivieren".

(3) Wahlen Sie die Drehachse "Z-Achse".

(4) Geben Sie die Parameter der Drehvorrichtung ein (fester Wert).

(5) Geben Sie die Parameter Ihres Objekts ein: den tatsachlich gemessenen
Umfangsdurchmesser des zu messenden Objekts.



Einstellungen der LightBurn-Software

Al

3. Importieren Sie das Muster, das Sie gravieren mochten. Geben Sie die GroRe des Musters sowie die Leistung
und Geschwindigkeit der Gravur an.

BOPB OG0 +9BALI6 DK ¥1 bav ol BH i+

n Width 121.732 % mm .:] = L T— = - ex S S
1 [ - R
S yeicht 128.245 i B
[+]
8
°
4
o
Speed (mm/m) 3000 |
Power Max (%) 100.00 |3
o

4. Sie kdnnen auf "Rahmen" klicken, um die Position des Gravurmusters in der Vorschau anzuzeigen, und dann
den Laserkopf an die gewiinschte Position bewegen. Es wird empfohlen, "Aktuelle Position" als Startposition
zu verwenden und auf "Start" zu klicken, wenn Sie die Einstellung abgeschlossen haben.

R s ———
GORAG O R+BE +PPLIAD X #1 B AT O 200 20 4+

e = e m w © s Sk P -
5 s e -
/2 0 B e 088 © © 5
2 - Disconnected
°
’ v
p4 ll Pause .Stop 4 ’ Start
(:_ E} Frame 8 (:) Frame Save GCode Run GCode
{2 Home Go to Origin 2 btart From: Absolute C v
@0 Enasble Rpflary
Job Origin
(OB Cut Selected Graphics

\
BEDE<“EEESEINNENDEODEEDEE = > “HOES - 50
©ae ©sin Otiwe Osew  sommymum



SAill SMART

POWER TO THE MAKERS

Genmitsu

Desktop CNC & Laser

Email: support@sainsmart.com

n Facebook messenger: https://m.me/SainSmart

Help and support is also available from our Facebook Group

Vastmind LLC, 5892 Losee Rd Ste. 132, N. Las Vegas, NV 89081

Facebook Group




